$oh=55)

BLEo FEHEIG Rlgd 5 7 =] T 5a km |[Bxa=E] Bk
Pt 6-0 11-0 2 6 17 0 17 1
FHEIF 0-6 1- 0 1 1 3 1 6 -5 2
RI&t 0-11 0-1 2 0 0 12 -12 3
hE7F b JIl E g BIFEII- f% 7 =] T 5 km |[Bxa=E] Bk
e A 0-0 0-1 1 1 1 0 1 -1 2
JI| £ 0-0 0-9 1 1 1 0 9 -9 3
BIfEII- 1-0 9-0 2 6 10 0 10 1
(R / J=AR)
I3 [ HET 55 7 =] T TR 5m |gEaE] EA
I3k 1-0 0-1 1 1 3 1 1 0 2
[LfEd 0- 1-1 1 1 1 1 2 —1 3
HixF 1 - 1-1 1 1 4 2 1 1 1
INFR FEIEF =t R 5 7 =] T 5a km |[Bxa=E] Bk
INFR 3-3 0-1 1 1 1 3 4 —1 3
#EEHR 3-3 - 2 2 5 5 0 2
=+ R 1-0 2-2 1 1 4 3 2 1 1
CHEPE )
Rigf g [N Aas EHN 40 A n =] B e 5 o (BEa=E] IBA
R iEf g 5-0 11 -1 2 6 16 0 16 1
[N 0-5 1-2 2 0 1 7 —6 3
E®nNILt4{0 1-11 2 -1 1 1 3 3 12 -9 2
B wigh IMIZU s 7 =] B e 5 ke |BxaE E6
Bt 1-1 3-0 1 1 4 4 1 3 1
wHEth 1-1 0-1 1 1 1 1 2 —1 3
IMIZU 0-3 1-0 1 1 3 1 3 -2 2




